

Available online at http://www.journalijdr.com



International Journal of DEVELOPMENT RESEARCH

International Journal of Development Research Vol. 06, Issue, 10, pp.9665-9668, October, 2016

Full Length Review Article

ON THE SURD EQUATION $A\sqrt[a]{x} + B\sqrt[b]{y} = C\sqrt[c]{z}, (a, b, c \in Q)$

*Gopalan, M.A., Vidhyalaksmi, S., Shanthi, J.

Department of Mathematics, Shrimati Indira Gandhi College, Trichy-2

ARTICLE INFO

Article History: Received 24th July, 2016 Received in revised form 19th August, 2016 Accepted 30th September, 2016 Published online 31st October, 2016

Key Words:

Integer solutions, Transcendental, Equations.

ABSTRACT

In this paper, non-zero integer solutions to three special transcendental equations in surds represented by $\frac{3}{p\sqrt{x}} + \frac{3}{\sqrt{y}} = 2\frac{4}{\sqrt{z}}(p,q \succ 3, r \succ 4), \quad \frac{3}{p\sqrt{x}} + \frac{3}{\sqrt{y}} = 2\frac{5}{\sqrt{z}}(p,q \succ 3, r \succ 5)$ and $\frac{2}{p\sqrt{x}} + \frac{2}{\sqrt{y}} = (p+Q)\sqrt{z}(p,q,r \succ 2)$ are obtained.

......(1)

Copyright©2016, Gopalan et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

INTRODUCTION

Dipophantine equations have an unlimited field of research by reason of their variety. Most of the Diophantine problems are algebraic equation [1,2,3]. It seems that much work has not been done to obtain integral solutions of transcendental equations. In this context one may refer [4-19]. This communication analysis a transcendental equation given by $A\sqrt[q]{x} + B\sqrt[b]{y} = C\sqrt[c]{z}, (a, b, c \in Q)$.

Method of Analysis

Surd Equation I:

$$\frac{3}{\sqrt[p]{x}} + \frac{3}{\sqrt[q]{y}} = 2\frac{4}{\sqrt[p]{z}}(p,q \succ 3, r \succ 4)$$

Introducing the transformations

$$x = \Gamma^{p}, y = S^{q}, z = X^{r}$$
(2)

in (1), it leads to

$$\Gamma^{3} + S^{3} = 2X^{4}$$
(3)

*Corresponding author: Gopalan, M.A., Department of Mathematics, Shrimati Indira Gandhi College, Trichy-2

.....(4)

Taking $\Gamma = u + v$, S = u - v, X = u

in (3), we have

$$u^2 + 3v^2 = u^3$$

which is satisfied by

$$u = 3m^2 + 1, v = m(3m^2 + 1)$$

Substituting the above values of u,v in (4) and using (2), the required values of x,y,z satisfying (1) are given by

 $x = \left[(3m^2 + 1)(1 + m) \right]^p$ $y = \left[(3m^2 + 1)(1 - m) \right]^q$ $z = (3m^2 + 1)^r, m \neq 1$

Surd Equation II:

$$\frac{3}{p\sqrt{x}} + \frac{3}{q\sqrt{y}} = 2\frac{5}{\sqrt{z}}, \ (p,q \succ 3, r \succ 5)$$
.....(5)

Applying (2) in (5), we get

$$r^{3} + s^{3} = 2x^{5}$$
(6)

In view of (4),(6) is represented by

$$u^4 - u^2 = 3v^2$$
(7)

Assume, $u^2 = 3U^2 + 1$

The above equation is the well known Pellian equation, whose general solution is given by

$$u_n = \frac{1}{2} f_n$$

$$U_n = \frac{1}{2\sqrt{3}} g_n$$
(8)

Where $f_n = (2 + \sqrt{3})^{n+1} + (2 - \sqrt{3})^{n+1}$ and $g_n = (2 + \sqrt{3})^{n+1} - (2 - \sqrt{3})^{n+1}$

Using (8) in (7) and performing a few calculations, we get

$$v_n = u_n U_n = \frac{1}{4\sqrt{3}} f_n g_n \tag{9}$$

Substituting the values of u_n, v_n given by (8) and (9) in (4) and employing (2), the required values of x,y,z satisfying (1) are given by

$$x_n = \left(\frac{1}{2} + \frac{1}{4\sqrt{3}}g_n\right)^p f_n^p$$
$$y_n = \left(\frac{1}{2} - \frac{1}{4\sqrt{3}}g_n\right)^q f_n^q$$
$$z_n = \frac{1}{2^r}f_n^r$$

Surd Equation III:

$$\frac{2}{P\sqrt[p]{x} + Q\sqrt[q]{y}} = (P + Q)\sqrt[p]{z}, \quad (p, q, r \succ 2)$$
.....(10)

Applying (2) in (10) ,we have

$$Pr^{2} + Qs^{2} = (P + Q)x^{2}$$
....(11)

Introduction of the transformations

$$\begin{array}{c} \mathsf{r} = X + QT \\ \mathsf{s} = X + PT \end{array}$$
 (12)

in (11) leads to

$$X^{2} + PQT^{2} = X^{2}$$
(13)

Case(i)

Let the product PQ be a square-free integer.

In this case, the solutions of (13) are given by

$$T = 2rs$$

$$X = PQr^{2} - s^{2}$$

$$x = PQr^{2} + s^{2}$$

Substituting the values of X, T in (12) and employing (2), the required values of x,y,z satisfying (1) are given by

$$x = (PQr^{2} - s^{2} + 2Qrs)^{p}$$
$$y = (PQr^{2} - s^{2} + 2\Pr s)^{q}$$
$$z = (PQr^{2} + s^{2})^{r}$$

Case(ii)

Let the product PQ be a perfect square, say M^2 .

In this case, (13) is written as

$$X^{2} + (MT)^{2} = X^{2}$$
(14)

which is in the form of well-known Pythagorean equation satisfied by

$$X = 2M^{2}RS$$

$$T = M(R^{2} - S^{2})$$

$$x = M^{2}(R^{2} + S^{2}), (R > S > 0)$$

Substituting the values of X,T in (12), and employing (2), the required values of x,y,z satisfying (1) are given by

$$x = \left[2M^{2}RS + QM(R^{2} - S^{2})\right]^{p}$$

$$y = \left[2M^{2}RS + PM(R^{2} - S^{2})\right]^{q}$$

$$z = \left[M^{2}(R^{2} + S^{2})\right]^{r}$$

It is worth to note that, (14) is also satisfied by

$$X = m^{2}k^{2} - s^{2}$$

$$T = 2ks$$

$$X = m^{2}k^{2} + s^{2} \quad where, k > s > 0$$

In this case, the corresponding solutions of (1) are given by

$$x = (m^{2}k^{2} - s^{2} + 2Qks)^{p}$$

$$y = (m^{2}k^{2} - s^{2} + 2Pks)^{q}$$

$$z = (m^{2}k^{2} + s^{2})^{r}$$

Conclusion

In this paper, we have presented integer solutions to three different Surd equations. To conclude one may attempt to find integer solutions to Surd equations for other choices of A, B,C,a,b,&c in the transcendental equation considered in the title of the paper.

REFERENCES

- Bhantia B.L and Supriya Mohanty, 1985. "Nasty numbers and their characterizations" Mathematical Education, Vol-II, No-1, 34-37.
- Carmichael R.D. 1959. The theory of numbers and Diophantine Analysis, Dover Publications, New York.

Dickson L.E. 1952. History of theory of numbers, Vol-2, Chelsea Publishing Company, Newyork.

Gopalan M.A and Devibala S. 2006. "A remarkable Transcendental equation", Antratica J.Math., 3(2), 209-215.

Gopalan M.A and Kalinga Rani J. 2010 "On the transcendental equation $x + g\sqrt{x} + y + h\sqrt{y} = z + g\sqrt{z}$ ", International Journal of Mathematical Sciences,9(2), 177-182.

Gopalan M.A, Manju Somanath and Vanitha N. 2012. "On the special Transcedental Equation", Reflections des ERA-JMS, 7(2), 187-192.

Gopalan M.A, Sumathi G, Vidhyalakshmi S. 2013. "On the Transcedental Equation with five unknowns $3\sqrt[3]{x^2+y^2}-2\sqrt[4]{x^2+y^2}=(r^2+s^2)z^{6}$ ", GJMMS.3(2), 63-66.

Gopalan M.A, Vidyalakshmi .S, and Lakshmi. K. 2013. "An interesting transcendental equation with six unknaowns $\sqrt[2]{x^2+y^2-xy}-\sqrt[3]{X^2+Y^2}=z^2-w^2$ ", International Journal of Engineering Research, 2(3), 340-345.

Gopalan M.A, Vidyalakshmi. S, and Lakshmi, K. 2013. "Observation on the transcendental equation with five unknaowns $\sqrt[2]{x^2 + y^2} + \sqrt[3]{W^2 + P^2} = 5z^2$ ", Cayley J. Math.,2(2),139-150.

Gopalan M.A. and Pandichelvi .V. 2009. "On Transcendental Equation $z = \sqrt[3]{x + \sqrt{By}} + \sqrt[3]{x - \sqrt{By}}$, Antartica J.Math, 6(1), 55-58.

- Gopalan M.A. and Pandichelvi, V. 2012. "Observations on the transcedental equation $z = \sqrt[3]{x} + \sqrt[3]{kx+y^2}$ Diophantus J. Math., 1(2), 59-68.
- Gopalan, M.A and Kalinga Rani, J. 2012. "On the transcendental equation $x+\sqrt{x}+y+\sqrt{y}=z+\sqrt{z}$ Diophantus J. Math, 1(1), 9-14.
- Gopaln M.A, Vidyalakshmi S and Kavitha A. 2013. "An Exclusive Transcedental Equation $\sqrt[2]{y^2+2x^2}+2\sqrt[3]{X^2+Y^2}=(k^2+3)^n z^2$ ", IJPAMS,6(4),305-311.
- Gopaln M.A, Vidyalakshmi S and Kavitha A. 2013. "On the Transcedental Equation $7\sqrt{y^2+2x^2}+\sqrt{x^2+y^2}=z^{2}$ ", Diophantus Journal of Mathematics, Vol-2(2), 77-85.
- Gopaln M.A, Vidyalakshmi S and Mallika S. 2013. "An interesting transcendental equation $6\sqrt[2]{Y^2+2X^2} 2\sqrt[3]{Z^2+W^2} = R^2$ " Cayley *J. Math.*, Vol-2(2), 157-162.
- Gopaln, M.A., Vidyalakshmi, S. and J. Shanthi, 2016. "On The Transcedental Equation With Six Unknowns $\sqrt[2]{x^2 + 3y^2} + \sqrt[4]{X^3 + Y^3} = z^2 + w^2$., IJIRSET, 5(8),14385-14388.
- Mordel L.J. 1969. Diophantine equations, Academic Press, Newyork.
- Pandichelvi, V. 2013. "An exclusive Transcedental Equation $\sqrt[3]{x^2 + y^2} + \sqrt[3]{Z^2 + W^2} = (k^2 + 1)R^2$ ", International Journal of Engineering Sciences and Research Technologr, 2(2), 939-944.
- Vidyalakshmi, S., Gopalan, M.A., and Kavitha. A 2013. "An the special transcendental equation $\sqrt[3]{x^2 + y^2} = (\Gamma^2 + S^2)^2 z^2$ ", IJAMS, 6(2), 135-139.